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Time : 2% hours] [ Full Marks : 450
2

oy ; g ave | [ s - 450

Instructions : This paper consists of Objective Type Questions and is divided
into Five Sections :

(1) Sections I, II, III and IV are compulsory. In addition, a candidate is
required to answer questions on EITHER English Language
OR Hindi Language {Section V).

(i1} There are in all 180 questions. Attempt as many questions as you
can. Each question carries 3 (THREE) marks. One mark will be
deducted for each incorrect answer. Zero mark will be awarded for
each unattempted question.

(77) Each question is followed by FOUR alternative answers (1), (2), (3)
and (4). Only one of these answers is correct. Select the correct answer
and record it against the question by darkening the appropriate circle
m the OMR Answer-sheet by Blue/Black ball point Pen.

(sv) If more than one altcrnative answers seem to be approximate to the
correct answer, choose the closest one.

3% : 9% ge-1a agfimed get W i & a9t 9 el 7 Renfsa ¥

(1} s I, I, I 3R IV Afard €1 58 ifafiew srvarelf ot sl s ar feh
HI9T (GO V) & I & I a7

(i) T 180 % & STRrerTieren THl & I A F RS W | Feda 5w 3 (i)
3F W ¥ FOH T IW F AT TR o T T | GR SAqaid 99
T IT9TE I & |

(£i7) WWEWWWU], (2}, {3) @ (4) &) sﬁﬁr%ﬁaqmm
He §1 W IW & gd aur W OMR Iat-Yfeasr § 3uge qa # Fer/ e
JeT W32 Fetd gRT HAT aX Sq1d |

(v} afe wafire 3o Iat ad swt & fae gdid & ar Freeaw @&t 3 3|

{1} t Tum Overd
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SECTION—I
gus—I1

( Economics and Moncy Banking )

( arefymrer @ ga7 dleT )

1. ‘Economics is the study of Man’s actions in ordinary business of lite.
Who gave this definition ?
(1} Adam Smith (2} Marshall
(3) A.C.Pigou {4) J. B. Say

‘ardgrrer SfiaT & QR sEEE ¥ AR et 1 e §1 a8 afom e
& e

(1) uwenfayy (2) wmrsier

(3} To Hio I (4} Fodftoq

2. Who is the author of this book—‘Nature and Significance of Economic
Science’ ?
(1) Robbins (2) Thomas (3} Jevons (4) J.K.Mchta

‘Nature and Significance of Economic Science’ J&ie & d@® & & 7
(1) Tfeme (2) (3) e (4) Fo o Fgar

3. A commodity that is not wanted cannot have—
(1} Cost (2) Value (3} Utlity (4) Demand

T I, ot ATavaehar T8 &, ¥ I8 6 & gl 8—
(1) s (2) qea (3) IufiEr (4) =T

{ 2} { Continued)
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4. What does the slope of an indifference curve represent ?
(1) Elasticity of demand of a good.
(2) Ratio of the prices of two goods.
{3} Provision of Consumer Equilibrium.
{4} Marginal Rate of substitution between two goods.

I T & A g & FaT yehe ar 8 7
(1) Forelr g 6 i o v

(2) 3 FgAT it FHar 1 ST

(3) IuweRT vy s ferfa

(4} 2 aegail % ot afoeureT & dvm &

5. The situation in which total revenue equals total cost is known as—
(1) Monopolistic Competition (2) Equilibrium Level of Qutput
{3} Break-cven Point (4) Perfect Competition

ag ff, foraw geret 3T Qeret AT & SR BT 8, 39 979 & SIHT SITdT 88—

(1) wefe gfeanfar (2) ITUTET T AT &
(3) =v-faeag farg (4} qof gfémfiar

6. The rate of inflation in India during the year 2009 was—
{1) Lessthan 10% (2) More than 10%
{3) Lessthan 15% (4) More than 15%
9T § 2009 a¥ & 0 g3 S 6 &t offi—
{1} 10% T =9 (2) 10% @ =1
(3} 15%% = (4) 15%% wferw

7. All Public Sector banks in India must have a government sharcholding of

at least—

A § ot ardeie &7 & S § gumn S steriiar w5 § #9897 aried—
(1) 51% (2) 26% {3) 33% (4) 100%

{ 3 ) ( Tum Over)
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8. When Reserve Bank of India wants to increase the money supply, repo

10.

11.

rate is—
(1) Reduced {2} Increased
{3) Kept constant (4) Nothing is required

o Riwral e A1 §a g1 i o7yt srgrT et &, W (repo) &—

(1) wrd st B (2) rgrd St 21
(3) fe&r st &l (4) T ITwF T |

The theme of the 11' Five Year Plan is—

(1) Inclusive Growth {2} Poverty Alleviation
(3) Education for All {4} Employment for All
et deradfar Qs o g fawa 2

(1) sr=fifea sfa (2) e 3R

(3) wft & ford frar (4) oft % B’ TR

Agriculture and allied sectors contributc ncarly this percentage of the
GDP in India—

i & gehet el 37 (Sfo o dio) T T AT SfovIT FEREH FA T wEfiE
AT T —

(1) 65% (2) 22% (3) 35% (4) 40%

The term ‘Green Revolution’ was given by—
{1} Dr. Norman Borlaug {2} Dr. M. S. Swaminathan
(3) Dr. Wiltliam Gande {4) Sada Shiv Rao

‘& smfeq o ITeg ok SR fem ra—
(1) gro T ERATT {2) 8Te THo THo TarHTIT
(3) =To faferam iz (4) e e

{ 4} { Continued)
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12. Which one of the following is not correct

13.

14.

(1} First Five Year Plan—1951-56
{2} Second Five Year Plan—1956-61
(3) Third Five Year Plan—1961-66
(4) Fourth Five Year Plan—1966-71

Fafer d g s arodrafi &7

(1) wor geayfT JsFT—1951-56
(2) Fafia deadfa TT—1956-61
(3) T daadfa AsT—1961-66
(4) =g dadfa AeET-—1966-71

Which one of the following statements is correct ?

(1) Good money drives bad money out of circulation.
{2} Bad money drives good money out of circulation.
{3) Good and bad money cannot circulate together.
(4) Cannot say.

Prifra & & S-a7 e adt 27

(1) oreat o ol qar 7t IO § qre T B
(2) it qaT =St guT Bl T o e A ¥
(3) sr=at @ gt quT Ary-any 9 F A8 @ et & |
{4} 5T Fer A 91 GFRa1 B

Which Government first intreduced economic reforms in India ?
(1) Narsimha Rao Government (2} Indira Gandhi Government
(3) Rajiv Gandhi Government {4} Janata Party Government

e 5 Forer T 3 e g anrf¥fen gl Y @y e 7
(1) e v s@r (2) R i wwEr
(3) Telra et TR (4) SAT T TR

{ 5 { Tum Over)
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18. The Report of Vijay Kelkar Committee relates to—

16.

17.

18.

(1) Trade Reforms {2) Centre-State Financial Relations
{3) Disinvestment (4) Tax Reforms

foretar shetent il = afedeT T9 wafta —

(1) SR R (2) -ty foxitg gay

(3) R (4) FYER

What was the Food grains production in India during the year 2008-09 ?
(1) 230 million tonnes approxi.
(2) 250 million tonnes approxi.
(3) 260 million tonnes approxi.

(4} 280 million tonnes approxi.
W | o 2008-09 § s & IS 41 o ?

{1) T 230 fio &
{(2) @250 oz
(3) @ 260 fvo 2
{4) @ 280 fivo

The Integrated Rural Development Programme (IRDP) was first

launched in India in—

e # v ooy e wrfET (IRDP) Sagaw 39 a o fomam mar—
(1) 1969 (2} 1978 (3) 1975 (4) 1977

The highest production of petroleum in India comes from—
{1} Assam (2) Gujarat (3} Mumbai High {4} Tamil Nadu

Yaiferan r gaifies I i § 997 & 9T §idr 8—
(1) 3mEm (2) TSRE (3) grd 8 (4) afeg

{6 ) ( Continved}
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20.

21.

22.
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The duration of the Eleventh Five Year Plan is—

RITEd] qaadia AT i srafty 3 —

(1} 2005-2010 ({2} 2006-2011 (3) 2007-2012 (4} 2008-2013
The term ‘Paper Gold’ refers to—

(1} Paper Currency {2} Gold of highest purity

{3) Special Drawing Rights {(4) Yellow shining paper
YT T5g FH e B

(1) st go1 (2) T e & @
(3) fasm smewT sifte {(4) dYew THEHRER AT

The main objective of IMF loan to India is—
(1)} to improve technology

{2) to improve agriculture

{3) to increase industrial output

(4} to meet balance of payment problem

RA F =P ge7 S (IMF) 3% 07 & & I o—
(1) FerfT gar

(2) R gur

(3) sfranfire Feures ¥ gfy

(4) [TAH EIo ht GHET & g FEAT

Which of the following States tops the list of sugar producing Siates in
India?

(1) Andhra Pradesh (2) Maharashtra

{3) Tamil Nadu (4) Uttar Pradesh

frrifera & & 9 6T U MR T SeATEe w4 ) et § 9T S W E 7
(1} aT=awe (2} wRTIY

(3) afierrg (4) ot

{ 71 { Tur hver)
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23.

24.

25,

26.

27.

The Gross National Product (GNP) is measured by the following three
well known methods except—

(1) Product Method (2} Expenditure Method

{3) Value added Method (4} Income Method

awel TP 3eTg (Sffo Wo o) Faiferg o & Faet gt Siga i yafora fafemt
§ WA ST g—

(1) Foure faftr (2) = f&fy

(3) wra gl fafi (4) g fafy

In which year the Reserve Bank of India was established ?

it frord & o T e ad g ot ?

{1) 1935 (2) 1948 {3} 1950 (4} 1952

UTI Bank has now changed its name to—
(1) Excel Bank (2) Trade Bank
{3) AXIS bank (4) United Bank

go FHo Ao i T TIW W T 47 & TIT §—
(1) s & (2) TFF
(3) ofrw S (4) gEes &%

The World Trade Organisation {(WTO) came inlo effect in the year—
fava samae d@nEw (WTO) 39 ad & srdsfier gam—

(1) 1990 (2) 1993 {3) 1995 (4) 1998

Service Tax was introduced in India for the first time in the year—

W o @ar # T 99T 39 a9 9 A R rer—
{1} 1990-91 (2} 1991-92 (3} 1994-95 {4) 2000-01

{ 8 ) { Comtinued)
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29.

30.
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The first stage of the evolution of Money was—

(1) Commodity money (2} Metallic money
(3) Paper money {4} Credit money
3T 3 I St TR e fi—

(1) s I (2) wrfess o

(3) TSIt HET (4) @@ qa1

The most important merit of the Gold Standard is—
(1) Elasticity (2) Price Stability
(3) Full Public Confidence {4) Portability

T A T e Ageaqu T f—

(1} <fraswadn (2} "= Rrar

(3) of s fovame (4) TETaEEiaar

How many commercial banks were nationalised by the Govt. of India on
15 April 19807

15 319 1980 i, Wi SFK % g [y anfiifSes et s agfgerer famar mar
or Y

(ij 14 {2} 10 (3) 6 {4} 5

{ 9 { Tum Over)
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31.

32.

33.

34.

SECTION—H
gus—II

{ Accounting and Business Organisation }

( FGIFT &d FFGTIaAF F137 )
Luco Pacioli, who gave origin to Modern Accounting got published his
book on principles of Double Entry System in—
g e, R smyfre daie @ s R, I § afafy gomelt @ g @
af gerIfRra &Y ofi—
{1) 1944 (2) 1864 (3) 1454 (4) 1649
Book keeping is a system of recording these transaction of business—
{1) Economic (2} Business {3} Monetary {4} Financial
JEAUTE F9E1T & $F ST o ATHOEH T TG B —
(1) =i (2) szEEF (3) Dz (4) forefra
Journal is a book of—
(1} Final Entry (2) Final Accounts
(3} Original Entry (4} Ledger Accounts
ofv et saeht geaT 8—
(1) arfeam gfafp (2) wfw @
(3) mer affy (4) s @R
Revenue is considered as being earned when—
(1) Cash is received (2) Sale is effected
(3) Production is done {4} None of the above.
I g Seffer wr= vl & S
(1) Teh g &t 2| (2) ferar Famar smar 2
(3) I B Bl (4) Iwdee A & i T

( 10} { Continucd }
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37.

38.
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The proprietor withdrew cash Rs. 1000 tor his personal use, the account
to be debited—

(1} Capital Account (2) Drawings Account

{3) Loan A/c of the proprietor (4} Trade Expenses A/c

St 7 1000 o & afir Fisit 3w F oy Farreht, a8 @rar fwfaa (am) fGear
TR

(1) 5t @ (2) e @rer

(3) =g T FO7 WA (4) =aTiEs =g @t

An example’of personal account is—
{1} Machinery Account (2) Purchases Account
(3) Prepaid Expenses Account (4) Stock Account

TR GTd &7 3eTeT e—
(1) wefiT @rar (2) = @
(3) ydew =g @rar (4) cFer @Tar

Trial Balance is a—

(i) Ledger Account (2) Statement

(3} List of Debtors (4} List of Creditors
i g '—

(1) gosft @rar (2) Tt

(3) QR o et (4) e i qEt

The main objective of providing depreciation is—

{1} to reduce the profit of the business.
{2} to increase the cxpenses of the business.
(3) to reducc tax burden.

(4) to calculaie true profit.

f 1 ) { Tum Cher)
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39.

40.

41.

B HENH T 99 Ie9T T—

(1) =TaQT™ % & &t F7 HET|
(2) g™ & sy¥} S agHT|
(3} S g F FF HT|

(4) TreafaEs AT T TR HET |

Under Diminishing Balance Method, depreciation is calculated on—
(1) Original cost (2) Written down value
(3) Scrap valuc (4) Last value of the asset

TS S Gl 3 3T=ier, I shY TUHT 39 9T Y it —

(1) 9erema (2) soeifad gy

(3) =RE I (4) wrate 1 1w g

Under Hire Purchase System, the ownership of property remains with—
(1} Buyer {2} Owner

(3} Guarantor {4) None of the above

fatraT T gl & Ard, TR W SETfied 3ok TE Tl e—

(1) st (2) @t

(3) gfafer st (4) IogeF B & & 74 |

Assets are held in the business for the purpose of—

(1} Earning revenue {2) Resale

(3} Conversion into cash {(4) Appreciation in the value
saggra # arafeRll 79 IR F o @t It 2—

(1) 3 o= {2) gr-fas

(3) U & afadr (4) ieH s

{ 12 ) ( Ceuntizrues
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43.

44.

45,

46.

10U/101/26(1)

Heavy advertising to launch a new product is a—
(1) Capital Expenditure {2} Revenue Expenditure
(3) Deferred Revenue Expenditure(4} None of the above.

T T IS ) TR B Ja 2 3 Ry fonam mar wdr g gt 2 —
(1) gsfira = (2) T =
(3) Aefig et =54 (4) IH A & IS T

Non-trading Institutions prepare—
(1) Profit & Loss Account (2} Manufacturing Account
(3) Income & Expenditure A/c (4) All the above.

R -saaaTiie eard a9 St B——

(1) & &l @ (2) fafoft ear

(3) 3T4-5F @rar (4) Iugw ot
Receipt and Payment Account is—

{1} A Nominal Account {2} A Real Account
(3} A Personal Account (4} A Statement
I O YA @l 3—

(1) T safiied @t (2) T areiess @
(3) U= =afwra @rar (4) U faaome

Accounting Standards Board was set up in India in the year—

WA # ST JHT &1 &Y ey T 39 af g ofi—

(1) 1964 (2} 1975 (3} 1977 (4) 1980
Business consists of mainly those activities which deal with—

(1) Production only (2) Exchange of goods only

{3) Provision of services (4) Above all.

FTEE & Faid § qvt sriekeTy e & Rraer gy 3@ e —

(1) shaet Ieqred (2} e aegait an fafima

(3) Saret ®r gTEEE (4) 39w @it

{ 13 ) { Fumi Over)
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47.

48.

49.

50.

51.

Which one of the following is not a form of business organisation ?

(1} Sole Proprietorship (2) Partnership

(3} Charitable Trust (4) Joint Stock Company
frifora & @ ® sqewTd GTST W Tk ST A & 7

(1) Uet AR (2) argEr

(3) wmid (4) G @y THSA
Which one of the following is not correct in respect of Sole Proprietorship ?
(1} One man ownership {2) Limited liability

(3} Personal control (4) Total risk
frifra § & 7 o AR S EEw A g a2 ?

(1) e @i (2) difim gl

(3) e Farzor (4} ww sifEw

Which form of business organisation requires minimum legal formalities
for its establishment ?

(1} Sole Proprietorship (2) Partnership

(3) Public Corporation {4} Public Limited Company

Frifera @ @ srau e R 9T § 3@t w1, ggad duifiw
aMrEiEaTait A ST adr 8 7

(1) Thet SATAR (2) wERER

(3} wrewieR A (4) wreisiHer S goew

The minimum number of partners required in a business firm is—

T HAGEIE BH H BRI ahi a0 6ear STavas e—
(1) 10 (2) 5 {3} 3 {4) 2

The upper limit of number of partners in the banking business may be—

T SfhT sqaam & §THERt Y Tedr i TReran ar & g §—
{1}y 5 (2} 10 (3) 15 {4} 20

{ 14 } ( Coirtinuced)
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55,

56.
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The Indian Partnership Act was came into force from the year—

st et sty g ad & masfer gom a—

(1} 1932 (2) 1940 (3) 1948 (4) 1956

If any partner has given a loan to the firm besides his share of capital,
he will be allowed interest at the rate of—

afe fordt arden 3 st it ¥ fvRH ¥ srerEr G A F WO @ R A 3@
T S H =1 93 T S—

(1} 5% (2) 6% 3) 7% (4) 10%

In a private company, the minimum number of members must be—

ua Fsfi anget |, get i ~man e adt 8 —

(1) 1 (2) 2 (3) 5 (4) 10
Historically the idea of joint stock company was first developed in—
(1) USA (2) India (3) Italy (4) UK.
ufrriee &9 &, T Ty GRS H1 R wewe J91 faeniia g oar—

(1) oo To  (2) KA (3) ge=ft (4) Fo o
Memorandum of Association is also known as—

{1} Document of the Company (2} Agreement of the Company
(3) Contract of the Company (4} Charter of the Company

qdg €tay B 3@ 317 @ oft ST STar a—
(1) St &7 Afic (2) FFT FF g
(3) @wut &1 ITgEy (4) T & AT

{ 15 ) {Tum Over)
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57.

58.

59.

60.

Which company is not required to file a prospectus ?
(1} Public Company (2) Private Company
(3} Public & Private Co. both (4) None of the above.

forer e o aferecoT e T STaveE TE & 7
(1) srdafre e (2) fsft gHge
(3) wEwE T T o aml (4) IR H & T |

The Industrial Credit and Investment Corporation of India was
established on—

(1) January 5, 1955 (2} April 5, 1956

(3) Qctober 15, 1960 (4) December 10, 1961
R arg w& fafra Fr £ e g fofr o g—

(1) 5 s=att, 1955 (2) 53|, 1956

(3} 15 #H&FaT, 1960 (4) 10 fmwr, 1961

It is the simplest and oldest type of organisation—
(1) Line Organisation (2) Staff Organisation
{3} Line & Staff Organisation (4) None of the above.

AT TS HT TR Gt aUT I J6T 8—
(1) w57 (2) =T g
(3) el ayr s @ (4) ITHH & FE FE |

Which one of the following is not an advantage of Advertising ?
(1} Creates Monopoly (2) Increases Sales
{3} Leads in reduction in prices (4} Creates employment

Rt & & o A e =i 2 7
(1) TR RIS aaT g (2) Rwgagare
(3) $ra weH & gER (4) VSR G @ 2

( 16 ) (Continued)
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SECTION—III
gue—HI

{G. K. and Current Affairs)
( G971

On 26" January 2010, India has celebrated its —— Republic Day.

(1) s8* (2) 61™ {3) 62® (4) 75"
26 LT 2010 ! HAF T G ——— TUGH [eag 991=T ]
{1) 584 (2) 61 a (3} 62t {4} 754t

The contribution of agriculture in Indian economy 18 -

(1} Constant (2) Decreasing

(3} Increasing (4} None of the above.
et aref s o F A § ——— |

(1) f@r (2) w=wr?

(3) @& (4) 39 F & g 7 |

Inflation implies—

{1} Rise in general price index

(2} Rise in money supply

(3) Rise m budget deficit

(4) Rises in prices of consumer goods

5T SR & A 8—

(1) |m= fia gaien § Jhg
(2) qErofd 7 gfg

(3) s A gfg

(4) 3wy gt st el A gig

{ 17 ) { Turn Over)
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64.

65.

66.

67.

68.

The country with the highest population density is—

(1} Bangladesh (2) India (3} China (4} Singapore
Hatfire STEsar 99 Tl 39T —

(1) ST (2) W (3) == (4) femge
Surajgarh Fort is located in which State ?

(1)} Uttar Pradesh (2) Gujarat

(3) Rajasthan (4) Haryana

e foret PR e W fRm R 7

(1) Iawew (2) o

(3) TSN (4) i@

Ms. Chanda Kochhar is associated with which bank ?

(1} Citi Bank (2) Punjab National Bank

(3) HDFC Bank {4} ICICI Bank

gt wreT PR e dm g walm § 7

(1) RErd= (2) O IS S

(3} THo Sto Tho Hie I (4) 3o Ho 21de Hio 3o A
The Ad Line “‘Life’s Good”’ is associated with which company ?
(1} Samsung  (Z2) Philips (3) LG (4} Godrej
fagraT “Life’s Good’’ & Huiy fovg g & g 7

(1) qmam (2) Feforw (3) Torh (4) TS
Naushad who died recently was a famous—

(1) Politician (2} Social Worker

(3) Sports Personality (4} Music Director

Ao, Rrrer gt § Frem gom, o gfeg ——

(1) TerifeR (2) sA HFF

(3) fasrer (4) @i e

( 18 ) ( Continue
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Competition Act 2002 was passed by the Parliament to replace the
following Act—

(1} MRTP Act (2) POTA

(3) Banking Regulation Act (4) FERA

Tue & g et sritrfam 2002, feafofiae stftrfaw & wam w arite femr mar—
(1) o Ao o o T (2) @

(3) af famw 1Ry (4) &

Which of the following States falls under ‘High Poverty Group’ ?

(1} West Bengal (2) Gujarat (3) Kerala (4) Karnataka
Frvifora & & = o osw ‘T s e o R 7

(1) dfEemama (2) ToUa (3) F& (4) FHAiew

The World Environment Day is celebrated every year on which of the
following days ?

(1) 5™ August (2) 5" July

(3) 5" June (4) 15" June

Frnifera feferat & & fome fam gt ad “forvar qarfercor e’ wamam ST & 2

{1) 5 s (2) SR

{3) 57 (4) 15

Farmers in India certainly get subsidy on which of the following commodi-

ties of agricultural use ?
(1) Tractors {2} Seeds
(3) Chemical Fertiliscr (4) Above all.

FR 3wt it Crrifera argall § R o st i Framt 0t s & & affd) ferd
z
(1) & (2) &=

(3) TTafis sd (4) I e
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73.

74.

75.

76.

77.

The 34% National Games were held in—

(1) Kerala (2) Assam (3) Sikkim {4} Jharkhand
34 & U @ T8 A 5—
(1) &= (2) ™ (3) Rafem {(4) FR@Ts

‘Who has become the first cricketer to score 30,000 runs in Internationat
Cricket ?

(1) Sunil Gavaskar (2) §. Jaysurya

(3} Sachin Téndulkar (4) Rahul Dravid
=P foe & 30,000 & 413 aTeT 9oy ke Raardi #m e mar 8 7

(1) G e (2) THo Sl

(3) i dgEaw (4) g EfE

Which city will be hosting the 2012 Olympics ?

(1) Paris {2} Berlin (3} London (4) Madrid
2012 sirafraes st At 3 w0 & gR Y S ?

(1) ¥m (2} afds (3} &= (4) nifgs

In Indian Mythology, which sage brought the River Ganga to earth from
heaven ?

(1) Vishwamitra (2) Bhagirath {3) Agastya (4) Durvasa

vt fferas i, e e T & el o s A ) AT ¢
(1) freafos (2) wrlreer (3) 3IT=Y (4} gEITEIT

Which Vitamin is found abundantly in citrus fruits ?
(1} A (2} B (3) C (4} D

e it H 3 & fererf agard & v A g ?
(1) ¢ (2) & (3) &t (4)

{ 20 ) ( Continued )



78.

79.

80.

81.
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The backbone has—
(1) 33 bones (2) 30 bones (3} 22 bones {4) 32 bones

f &t ot 7 &t F—
(1) 338f@t  (2) 30&fst (3) 22 =fEat (4) 32 sfeat

Who is the President of World Bank ?
(1} Robert Zoellick (2) Pascal Lamy
(3} Raul Castro (4) None of these.

T dT Mapag a2 ?
(1) T=e sirsifers (2) urhet AWl
(3) TS FE (4) FH G =R T

Which is the leading natural gas producing country ?
(1) Canada (2} USA {3) Russia (4} Iran

N Gt qremfaes g Jeee AN § 7
(1) e (2} Fouqo o 3) & (4} §

The first nuclear test was conducted in the year—
WRE # ToH QU] qieqer 39 &Y foRar T a—
(1) 1973 (2) 1974 (3) 1975 (4) 1976

Which State grows nearly 30 per cent of World Opium ?
{1} Madhya Pradesh (2) West Bengal
(3} Gujarat (4) Bihar

9 a1 Uy fava & arhg & @ 30 gfaea dep ear @ 7
(1) wers=e (2) dfvaw ammer
(3) ToR@ {4) faer
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83.

84.

85.

86.

87.

A ‘Light Year’ is a unit of—

(1} Time (2} Distance (3) Velocity (4} Energy
"G Y JHR U oIS B —

(1) g7 2y (3) am (4) F1
A person in normal health requires per day—

(1)} 1000-1800 calories (2} 2500-3000 calories

(3} 3000-4000 calories (4} 4000-5000 calories

wF FRe F o gy cey  gfafe gadt smavasrar S 2 7

(1) 1000-1800 Farl (2) 2500-3000 ¥t

(3) 3000-4000 et (4) 4000-5000 Fhd

The Fourth estate is—

(1) Press (2} Property (3) Metals {4) Tax
e T E—

(1) 3 (2) @Ry (3) wg (4) =

Which of the following is a type of tax levied by the government on

goods and services ?
(1} PAN {2} NET (3) SAT (4} VAT

Frifera & @ 9 @1 R TR 3 gHr aegatl ot Qe o e S & 7
(1) = (2) Az (3) &2 (4) &=

Who was the first Indian Gold Medal Winner in the Beijing Olympic
Games 2008 ?

(1) Vikram Rathore (2) Avneet Kour Sidhu
{3} Deepali Deshpandey (4} Abhinav Bindra
sifSeT StieTfias @ef 2008 o FiIT T IR Wl ged fasiar ot ?
(1) fosrm adn (2) srarfia i frg,

(3) dareft i (4) i e
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Who is the India born scientist recently awarded 2009 Nobel Prize in

Chemistry ?

(1} Dr.N.R. Dhar (2} Dr.H. Khurana

(3) Dr. V. Ramakrishnan (4) Dr. Jayant Narlikar
e § & W me § 2009 # Aed TR 9wd § 99 o wfe @ o
g Y

(1} STo Tdo 3Wo HT (2) STo THo GAT

(3} STo Y THFSHET (4) o I TATRC
Who has won the 2009 Nobel Peace Prize ?

(1} Dr. Manmohan Singh (2) Mr. Barack Obama
(3) Mrs. Sonia Gandhi (4) Mr. Nelson Mandela
2009 = e it qeear e shiar g ?

(1) 2o wmrET e (2) firo SR e

(3) simdt wrfa meft (4) firo uT A==

Who is the Union Finance Minister in India ?
(1} Mr. Pranab Mukerjee (2) Mr. P. Chidumbaram

(3) Mr. Karmnal Nath (4) Mr. Yashwant Sinha
T A S e e e e

(1) #ft gor gt (2) it dto fergrarey

(3) =it e T (4) st TeE= R
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91.

92.

93.

94.

SECTION-—IV
gus—IvV
(Mathematics)
(e )
Which one of the following numbers can fill in both the blank
spaces 7 __-12
' 108
frrnfra gersti & o fF8 o e ol o s apar 87 ﬁ=1—.2
(1) 36 (2} 24 (3 72 {4) 54

In how many years a certain sum doubles itself at 4% per annum simple

interest ?

(1} §years (2) 10 years

(3) 20 years {4} 25 years

Forar ot o war Tt 4% anfier ETamoT ST O AT & St 7
(1) 5a¥ (2) 10ad

(3) 20 af (4) 254

A bought 5 pencils for Rs. 4 and sells 4 pencils for Rs. 5. The gain percent
in the transaction is—

IS AAT 4 Fo F @l aur 4 Gl S o F AT §i 79 A H &N &0
yfcra &—

(1) 25% (2) 20% (4) 40%

(3} 56-%

4
The average age of a man and his son is 22 years. The ratio of their ages
is 19: 3 respectively. What is the man’s age ?

U QEY T I A B ST Mg 22 I§ &| IFRT TR T A FA: 19:3

B g S g AT R ?
(1) 44 years (ad) (2) 38 years (3¥)
(3) 30 ycars (ad) (4) 26 years (I%)

(24 ) { Continued}
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98.

99.
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A car covers a distance of 816 kms. in 720 minutes. What is the speed
of the car in kms./hr. ?

1% FR 816 fho Ho Ft gt 720 e & qu awelt 31 & & nfd wfE o o /oer
7

(1} 64 kms./hr. (o Hio/5)  (2) 62 kms./hr. (o Hio /¥)

(3} 68 kms./hr. (fRodto/d)  (4) 70 kms./hr. (Fro #o/9)

48% ot a number is 1248. What is the number ?

T TEAT FT 48% 1248 T| I HeAT AT ?

(1) 2850 {2) 2700 (3) 2450 (4} 2600

It the cost of 14 kgs. of rice is Rs. 504, what is the cost of 98 kgs. of
tice ?

afe 14 faelr araer it Fiwa 504 To &, 98 frar arae & Fimg AT &7

(1) Rs. (%) 3158 (2) Rs. (%) 3758

(3) Rs. (%o) 3358 (4} Rs. (¥¢) 3528

5% of 5% of Rs. 100 is—

100 %o % 5% &1 5% 8—

{1} Re. (%0)0.25 (2) Re. (%0) 0.50

(3} Rs. (¥0) 10 (4) Rs. (¥0) 25

The average age of 10 students in the class is 20 ycars, if a new student

is also included then the new average age ot all the students increascs
by 1 year. The age of the new student 15—

10 BT & Feqr A sftwa oNg 20 a¥ 2, 3% & & o W wiwer fowa S @ ar
gt ST i ofted oy 1 ad ag ST ¥ | A B Hit 7Y 8—

(1) 21 years (a¥)

{2) Cannot be determined (Fraif & &t 3 gt &)

(3) 31 years (ad)

{4) None of these (FH & @3 78)
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100.

101.

102.

103.

104.

60% goods are sold at 5% loss, while rest are sold at 10% protit. If there
is a total profit of Rs. 100 then the worth of goods sold is—

60% Tt 5% = T o=t T ¥, 9’ oW awgd 10% @ w = It ¥ 7l
geheT 1 100 Fo BT & @t 3=t T gt 1 ooy 2—

{1} Rs. (¥0) 5000 {2} Rs. (¥0) 6000

{3} Rs. (¥0) 10,000 (4} Rs. (%0) 15,000

P has only 25 paise coins and 50 paise coins in her pocket. If in all
she has 40 coins totalling Rs. 12.75, how many coins of 25 paisc docs
she have ?

ff % o Fad 25 U F S0 ¥ F R @ o9 ° Bl Afg gor 40 T
12755 HEarsasr o 25 W F s fmaa &7
(1) 26 (2} 29 (3) 30 (4) 31

The age of the father 5 years ago was 5 times the age of his son. At
present the father’s age is 3 times that of his son, what is the present
age of his father ?

5 o ggel far @ snyg, T qF &Y g 9 9 T oAt FdwH # feav o,
H qF & o & T 7, far & adam sy Fv gy

(1) 33 years (¥) (2) 30 years (a¥)

(3) 45 years (ad) (4) S0 years (ad)

A train 100 metres long passcs a bridge at the rate of 72 km./hr. in
25 seconds, what is the length of the bridge ?

T& @E 100 #i @&t @ g A 72 fho Hio/do & wid & 25 ddg
¥ qR et R, gor Y dars | Y

(1) 170m (Hto) (2) 400m (o)

(3) 600m (Hto) (4) 1000 m (o)

Solve (8 $IfSA) 9936 +92 +9 =7
(1} 12 (2) 21 (3) 7 4) 19
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Select the correct answer {(T& W FAI)— 15x15x15="2
(1} 4545 (2) 3545 (3) 3375 (4) 3030

Krishna has some hens and some cows. If the total number of animal
heads are 59 and the total number of feets are 190, how many cows
Krishna have ?

FOM % 99 FS AT a0 FO M9 71 AR @it el F /i gew 59
T O &t e s 190 ¥ ar o & ur et e ¥ 7

(1} 36 (2} 32 (3} 23 (4) 46

Vanita bought a watch with 24% discount on the selling price. If the watch
cost her Rs. 779, what is the original selling price of the watch ?

AT A T o T e W 24% 98K | @{iE IR a9 fi Fima @ 779
%o U, adl & ot fgha og Fargy |

{I) Rs. (¥0) 1000 (2) Rs. (%) 950

{(3) Rs. (%) 1040 {4} Rs. (¥0) 1025

The cost of 3 chairs and 10 tables is Rs. 9856. What is the cost of 6
chairs and 20 tables ?

3 Fiear 7 10 et i Fima 9856 Fo 7, 6 Fivar 9 20 o i Fqa | 7
{1} Rs. (¥0) 17227 (2) Rs. (%0) 18712

(3} Rs. (%0} 19172 (4} Rs. (%0) 20312

The annual depreciation of a motor car is Rs. 2000. Using straight line
depreciation method. The scrap value of the car at the end of 5 years
is Rs. 1000. What is the original cost of the car?

BT IS T Wt W@r TEfd & ITT F OF AR R | 2000 Fo aMf¥ah
BI& oo &t &1 5 af % g AT & ANy g 1000 Fo ¥ A @ qW
AT AT E Y

(1) Rs. (¥o) 10,000 (2) Rs. (¥e) 5,000

(3) Rs. (¥o) 11,000 (4) Rs. (%) 12,000
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110. The ratio 5:4 expressed as percent equals to—

111.

112,

113.

114.

af¥ Srqura 5 :4 & gfowa & gwiay S a) FEh SO fm—
(1) 125% (2) 80% (3) 40% {4} 60%

At a certain rate of simple interest, a certain sum doubles itself in 10
years. It will treble itself in—

oz fAffad aamor s & W), @& Afi 10 a6 F @ gt & ot ¥ e
¥ T R & smeh—

(1) 15 years (a¥) (2) 20 years (a¥)

(3) 25 years (a¥) (4) 30 years (ad)

The difference of two numbers is 623. If greater number be 932, then
the other pumber is—

& FETe @ =R 623 ¥ A a7 wer 932 @ 4t gul ver dit—

(1) 299 {2} 309 (3) 311 (4) 329

Which one of the following numbers is divisible by 11 ?

Prifera & & 7 o dean 11 & fprfora i s gerdt 3—
(1) 1242523 (2) 1254523  (3) 1524523  (4) 1542523

A man gave 50% ot his sum of money to his son and 30% to his daughter,
50% of the remaining to a trust, still he has Rs. 5,000 with him. Find
his total sum.

wF e ¥ F Fa afir w50% W g F qur 30% v B o R,
T ufdr # 50% U g A, |EH A% 36k 99 5,000 ¥ ¥} g A0
RICEIE Y

(1) Rs. (¥o) 30,000 (2) Rs. (¥0) 35,000

(3} Rs. (¥o) 50,000 {4) Rs. (¥o0) 55,000
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120.
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Two amounts have ratio of 7:5. If the first one of worth Rs. 42, the
other one will be—
ar qfvwll &1 argard 7:5 ¥ afg ueeft ofir @ Ao 42 & @ g ufr o g
EHTT—
{1} 30 {2} 40 (3} 75 (4} 60
A person spends 80% of his monthly salary. If his savings is Rs. 5,000,
what 15 his monthly salary ?
& Afth a9 miEs® 399 & 80% W9 F@r 2| afd 3w #9599 5,000 ¥o ¥
qr IGeT Wi daT T 8 ¢
{1} Rs. (%0) 30,000 (2) Rs. (%0) 25,000
(3) Rs. (%0) 22,000 (4) Rs. (¥0) 20,000
The cost price of 6 chairs is equal to selling price of 4 tables. What is
the percentage of profit 7
6 FeTaT ht T 4 FRAAT 5Pt 5a 3 FE R | T 7 FT 0T @ ¢
(1) 100% (2) 75% (3) 50% (4) 25%
Find the value of—
e F1d Rife—
(5)*x (3)*+ (5)?
(1) 40 (2} 45 (3) 50 (4) 55
Find the valuc of
T 919 i
7.5x1.5
0.5
{1} 3.50 {2} 2.50 (3) 2.25 (4) 2.00
What should come in place of the question mark {?} in the following
series ?
Freifera @ A 997 §3 (7)) & T T FT &A1 aned 7
5 10 20 40 (7?7} 160
(1) 80 (2) 100 (3) 120 (4) 320
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SECTION—V
qgug—V

( English Language )
[ For the Candidates Opting for English Language ]
Instructions : for Q. 121-130

Please read the passage given below carcfully and then answer the

questions based on it. Do not go beyond the passage to answer questions

In a remarkably succinct, ten-page article published in 1979, Paul
Krugman proposed a new trade model that changed the way economists
view the intcrnational exchange of goods. At the heart of the modecl lay
two concepts that reflected the general twentieth century trend towards
having more: the increased production of goods, leading to economics of
scale, and increased diversity of products, leading to greater choice for
consumers. Krugman’s model better reflected the new pattern of internatio-
nal trade that had developed in a world where less certainly wasn’t more.
His model sought to cxplain the situation in which countries that are similar
benefit by producing and trading in similar goods. Thus, cars are manutfac-
tured in France, Germany and Italy, with each country benefiting from the
economies of scale delivered by mass production, and the citizens of cach
country benefiting from the increased choice that arises from having a global
motor industry. Previous trade models had emphasized the importance of
the differences between countries, with international trade being based on
the production of different matcrials in cach country to fultil unmet needs
in others. Krugman’s development of a rigorous framework for describing
the rcal world situation formed the basis for an cxplosion of subsequent

analysis. The 1979 paper in the Journal of International Economics

[ 30 1} { Continued )
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also sowed the seeds of an analysis of the forces driving increcased
urbanization. In his core-periphery model, which he developed properly
in a 1991 publication, Krugman describes the opposing pressures that act
on populations : those that serve to pull them into the core (urban) centres
and those that work to push them out into the peripheral {agricultural) arcas.
For example, one such factor is the cost of transport, and the generally
decrceasing transport costs seen in the twenticth century have served to pull
production, and populations, into urban centres. Once again, Krugman'’s
formulation of a robust modecl provided the apparatus that allowed a
thorough exploration of the factors driving the global distribution of
production facilities, and of thc urbanization that is such a prevalent
tfeature of the modern world.

Paul Krugman won the 2008 Nobel Prize for Economics.
121. What did Krugmann do in his 1979 article?

{1} he proposed a new kind of economics

(2} he proposed a new trade modcl

{3} he proposed a new systemn of exchange

{4) hc proposed a new international cconomics

122. What was the gencral twentieth century trend ?

(1} having less (2) having morc
{3) having cnough (4) having diversity

123. What did Krugmann's model seek to explain ?

(1} countrics that are similar benefit by producing and trading in simitar
goods countrics benefit by trading in different goods

(2} different countries should trade only in different goods

(3) ditferent countrics trading in similar goods would be loscrs

(4) Nonc
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124. What did the previous trade model emphasizc ?

(1) importance of differences between countrics
(2) similarities between different countrics

{3} different cultures of different countries

{4) different products of ditferent countries

125. What did Krugmann’s rigorous frame-work describe ?

(1} the real situation of different models

(2} the real world situation in trade

{3) the real condition of the motor car induastry
(4) the real difference between countries

126. What happened once Krugmann’s model became popular ?

(1) it increased the production of ditfferent matcrials
(2) it became the basis of several subsequent analysis
{3) citizens of different countries went into production
{4} economics of scale delivered by mass production

127. What did the 1979 paper say about urbanization ?

{1} that it had decreased (2) that it had increascd
{3) that it had stood still (4) that it was useless

128. What were the core and periphery areas according to Krugmann ?

(1) urban and agriculture (2) urban and factory
(3} urban and mass production{4) rural and agricultural

129. Why did the population shift to the urban centers ?

(1} because agriculture prospered

(2} because the cost of transport decreased

(3} because urban areas were more luxurious

(4) becausc it was cheaper to live in the urban arcas

[ 32} { Contin,
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132.
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134,
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What did Krugmann predict in advance for the global economy ?

(1) global prosperity

{2) global economic crisis

(3) global rise in production

(4) rise in consumption during the crisis

Identify the phrasal verb :

I you're in town next month, we'd love to see you. Please try to
drop by the house.

(1) next month {2) drop by
(3) pleasc try {4) by the house

Identify the phrasal verb :

The spcech was so boring that several people in the audicnce
nodded ot before it was finished.

(1} so boring (2} several people
(3) nodded oft {4} 1t was finished

Identify the phrasal verb :

My planc will arrive around 5:00 PM. I should be able to check
into the hotel by 6:00 or 6: 30.

(I} arrive around (2) be able
(3) check into (4} hotcl by

Identity the phrasal verb :

Bill had never used a computer until he took this class, but he caught
on very quickly and is now onc of the best students.

(1) never used (2) he took this
(3) caught on (4} best students
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135.

136.

137.

138.

139.

140.

Identify the phrasal verb:

Jack and his girlfriend were very angry with each other, but last
night they finally made up.

{1) his girlfriend (2) very angry
(3} last night {4) made up

Identify the word that is not a synonym : donate

(1} bequeath (2) bestow {3} dolc (4) grab
Identify the odd word :
(1) hidcous (2} repuisive (3) ugly (4) ravishing

Identify the phrasal verb:

Yes, I know we disagree on lots of things, Susan, but we can iron

them out.
(1} lots of things {2} we disagree
{3) we can iron (4) iron them out
Identity the phrasal verb :
I'm too tired to cook tonight. Why don’t we eat out ?
(1) too tired (2} cook tonight
(3) catout (4) why don’t
Idcntity the phrasal verb:

The boss was very upset when you didn’t show up for the meeting.

(1) very upsct {2) showup
(3) for the meeting (4) boss was very
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141. Identify the phrasal verb:

Was something wrong with Jill? She took off without saying

goodbye.
(1} was something (2} something wrong
(3) took off (4) without saying goodbye

142. Identify the phrasal verb:

I really should wash the dishes, but 1 don’t fecl like it. May be Tl
get around to them tomorrow morning.

(1} wash the dishes (2) feellike
(3) get around to (4) maybe

143. Identity the correct sentence:

(1) Litc is rainbow which also includes black.
(2) Life is a rainbow which also includes black.
(3) Life is a rainbow which also include black.
(4} Life is a rainbow what also includes black.

144. Identify the correct’sentence :

(1} The cruclest lics are often told silence.
(2) The cruelest lics arc often told in silence.
(3} The cruelest lics often told in silence.

(4} The cruclest lics are often told of silence.

145. Identify the correct sentence

(1} If you tile your wastepaper basket for fifty ycars you have public
library.
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146.

147.

148.

(2) If you file your wastepaper basket for fifty years you have a public
library.

{(3) If you file your wastepaper basket fifty years you have a public
library.

{4) If you file wastepaper basket for fifty years you have a public
library.

Identity the correct sentence :

(1) Who ever should lie usetully should lies seldom.
(2) Who ever should lie usefully should lie seldom.

(3) Who ever should lies usetully should lie seldom.
(4) Who ever should a lie usefully should lie seldom.

Identify the correct sentence :

(1) A man who has not passed through the inferno his passions has
never over come It.

(2) A man who not passed through inferno of his passions has never
over come them.

(3} A man who has not passed through the inferno of his passions has
never over come them.

{4} A man who has not passed through inferno his passions have never
over come them.

Fill in the blanks :

The moment the slave resolves that he will no longer be a slave, his
—fall: freedom and slavery are mental states. Mahatma Gandhi

(1} letters (2) gutters (3} garters {4} fetters
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149. Itis often better —— in chains than to be free. Fanz Katka

(1} tosec (2) tobe {3) todo {4) nobe

150. Liberty is precious—so precious that be rationed. V. I Lenin
(1) in must {2} it must
(3) for must (4) of must
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151.

152,

153.

154.

188,

SECTION—V
gug—vV

(Hind: Language )
( &=t vt )

[ For the Candidates Opting for Hindi Language |
[ R=ft smar g et Ryenffat % forg ]

AT E
(1) FmrAT (2) G (3) F@IR {(4) TmET

SR Y 7 ATt et &l T 1T |

S U FE T U % arar ||
~— et T R 7

(1) weitig® (2) @we™ (3) A (4) TH
‘g’ T R e A g R 7

(1) s & (2) | (3) 3rEdt (4) wrodt
‘g T 0T i g, § ear e i et |
ot dftr 2 7
(1) weiam (2) g™
(3) EwEw (4) &
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